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111 +2+3+1+1+2+2=

2| 3+2+2+1+2+1+2=

3| 1+1+2+3+3+3+2=

412 +3+3+2+3+1+1=

5|3 +1+1+2+1+3+2=

6]2+2+2+1+1+1+3=

71 +2+1+2+3+2+2=

8| 2+3+1+2+2+2+3=

9|1 +2+2+3+1+2+1=

103+1+3+2+2+2+3=
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2T1+1+2+3+3+1=

2T+2F+F2+1+2+1+1=

ST+T3IF2F+F3+F3+2+3=

2 T2+ 1T+1+3+2+1=

2T+T3+1T+1+1+2+3=

S+3IF+F2+1T+3+1+3=

S+1+1+3+1+3+3=

1+2+-3+1+3+1+1=

S+2F+1+2+3+2+1=

2T2F+F3+1T+3+3+3=
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1121311 +1+2+2=12
3T2T2t112+1+2=13
17112131313 12=10
21313+213+1+1=15
STIT1+2+1+3+2=13
212121111 +1+13=12
17211 121371212=13
213T1+212+213=15
1121213 +1+2+1=12

3t1+3+212+213=16
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211711213 1311=13
212712111211 +1=11
3137121371312713=19
21271111131271=12
213T11111+2+3=13
313T211131113=16
3t1t1+371+313=15
1121311 +3+1+1=12
3t2T1+213+211=14

2+243+1434343=17
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